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A	��(�C�(Ĉ     :�ب 1أ����: B C π
∧ ∧ ∧

+ + =  ����

3 4
C

π π π
∧

+ + =  

 ����3 4

12 12
C

π π π
∧

+ + =  ����
7

12
C

ππ
∧

= −  ����5

12
C

π∧
=  

  C�AC�ب  )1

:���(	 
ˆsin

b

B
= 

ˆsin

a

A
 ����

sin
3

b
π=

4

sin
4
π

  

 ����4 sin sin
3 4

AC
π π× = ×  ����

3
4 sin 4 4 33 2 2 6

2 2sin
4 2

AC

π

π

× × ×= = = =
  

[�� �� ا	
��ل :�����16 ],π π−: �	د�2 ��sin 2 1 0x − =  

2sin ا���اب:  2 1 0x − = ����1
sin 2

2
x =  ����

sin 2 sin
6

x
π=  

 ����2 2
6

x k
π π= 2أو + 2

6
x k

ππ π= − +  

 ����
12

x k
π π= 5أو +

12
x k

π π= + ��  و#"�م  �	��ط

11و#�) :  7 5
; ; ;

12 12 12 12
S

π π π π = − − 
 

  

)���د	�:��ℝ �� ا	
��ل:�����17 )2
sin sin 2 0x x+ − =  

DE#sinX:  ا���اب: x= : 345� 2وا���1د�� 2 0X X+ − =  
1a       ∆��#�  ا����" : 1bو   = 2cو  = = −  

( ) ( )22 24 1 4 1 2 9 3 0b ac∆= − = − × × − = = 
� أن< 0∆≻   

�0 ھ
�:  ��ن ھ9ه ا	
��د	��� �.	
1

1 3
1

2 1
X

− += =
×

أو   
2

1 3
2

2 1
X

−= =−
×

  

 (�# ��F6ا ��G�
  :  و���  �	��2ع 	�
sin 1x sinأو       = 2x = −   

[�=8> أن ا���1د�� ا������ ��: ��9 78 �6  ],π π−  

sin اذن 6?< ��7 ا���1د�� : 1x 
�د�� ����)=�)  

sin 1x =  : ����2
2

x k
π π= 2 وم$@ :+ ;

2
S k k

π π = + ∈ 
 

ℤ  

  




